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Answer the following questions

a) The ; y o 3
¢ formal charges on the nitrogen and oxygen in the following structure are
respectively i %
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b) What is the hybridization of the indicated carbon (by arrow) in each of the following

compounds: ?
CH;CH,NH, «g@"f
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c) How many sigma (o) and how many pi (m) bonds are present in the following structure?
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2. Using curved arrows show how each of t}

1e following could be generated and give the
structure of the product. Specify formal ¢

harges if any.

a) An equally stable resonance structure of:
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b) The most stable resonance contributing structure of:
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3. Consider the following acid base reaction: \ \

CH3;CHO -+ NH; =

a) Give the products of the reaction and identify the acid, base, conjugate acid and
comjugate base

CHz(Hy0 + NHa=== Chzc 1,0k + NH;
oxe acud (o nibpit Conjuynie

b) Label the stronger and weaker acids and bases in the above reaction
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c) Is the value of the equilibrium constant K greater or less than 1?2
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d) Which is a stronger base CH3CH,O™ or CH3CH,S™ ? Explain briefly
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How many stereoisomers are there of D-fructose (including D-fructose), shown below?

Bonus question (5pts)

CH,OH





